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SA R DY
Hu: SAE M SRR
= BN Falg e Er EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 2,100 2,100 0
ORCEph Q280 U W0 2,100
301 YrEEZ 3,000 4,000 21,000
ITETCTREE 3,000 4,000 1,000
OBB2A B0 =7t #F B
1,500,0002 23] 3,000
307 212+01& 65,637 130,175 A\64,538
[ 19,691
Al 45,946
02 2B A HE L 65,637 130,175 64,538
OO0y W2tal X3 65,637
= 19,691
Al 45,946
402 2IZtA=01d 37,800 97,800 60,000
= 10,800
Al 27,000
02 RIENSASEZ(0IETHR) 37,800 97,800 260,000
OBB2A s4242 H2TH |4
18,900,000 +2JH 2 37,800
[ 10,800
Al 27,000
405 AHaHE S 2,000 12,000 10,000
01 ML ESF SHI 2,000 12,000 10,000
OZANl LtdIE 100,000 »20CH 2,000
SESSEAMY XA EAM 700,000 2,132,000 21,432,000
= 300,000
= 42,000
Al 368,000
101 @124H| 82,300 82,300 0
= 41,150
< 5,761
Al 35,389
M ORIMZZ2NSE S 82,300 82,300 0
OUIER Y= AEH 29 82,300
= 41,150
== 5,761
Al 35,389
201 er2 3| 347,700 356,200 28,500
= 173,850
== 24,339
Al 149,511
01 At22t2l] 57,300 75,800 18,500
OUIERDZE AEH 29 14,900
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S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

OsEdgZ2 I8

= N A = N A = o W

Mo

=

Mo
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7,450
1,043
6,407
9,400
4,700
658
4,042
23,000
11,500
1,610
9,890
10,000
5,000
700
4,300
290,400
290,400
145,200
20,328
124,872

10,000

Mo

=

20,000
10,000
1,400
8,600

20,000

11 EAAHIXIRES

OIIBHAI HE 2

hoH

20,000
20,000
10,000
1,400
8,600

20,000

100,000

50,000

50,000

100,000
100,000

50,000

50,000

Mo

=

150,000
75,000
10,500
64,500

1

50,000

183 SISO 4R ASAIE|

OUHIE e & RS UERZD 7=

Mo

150,000
150,000
75,000
10,500
64,500

1

50,000
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SM: BRI
M A2 M

o 6‘%&@—;—7& EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 5,000
=S 1,000
Al 4,000

SHSHIRX AEAI 2,364,000 0 2,364,000
= 1,182,000
Al 1,182,000

201 er23| 6,000 0 6,000
= 3,000
Al 3,000

01 At2teltl 6,000 0 6,000
OXSgols 29 1,000
= 500
Al 500
OgEEE MRES 7 5,000
= 2,500
Al 2,500

308 XXM SOIA 2,358,000 0 2,358,000
= 1,179,000
Al 1,179,000

18 SIS0t oA AS A 2,358,000 0 2,358,000
OSAISHIR X AlEAI 2,358,000
= 1,179,000
Al 1,179,000

SR XY x4 600,000 0 600,000
= 180,000
= 90,000
Al 330,000

401 AIZHIX 20 600,000 0 600,000
= 180,000
= 90,000
Al 330,000

01 Al&H| 595,000 0 595,000
O=ZZEE MY x4 595,000
= 178,500
< 89,250
Al 327,250

02 Zeltl 5,000 0 5,000
OZZFE Mg =4 Zcldl 5,000
= 1,500
S 750
Al 2,750

st =8 2,281,410 3,724,868 1,443,458
= 498,000
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. sitE dih - RS2
ol Sttt RS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 192,206
Al 1,591,205
SMHERSAE JHd € =5 77,017 313,140 N236,123
= 23,105
Al 53,912
402 QI2FX+=01 & 77,017 313,140 N236,123
= 23,105
Al 53,912
02 QI XHE AL E R (01X THE) 77,017 313,140 A236,123
Ox72 st |KSAE(01H) 77,017
s 23,106
Al 53,912
M2esSHA= 540,000 24,540 515,460
= 270,000
=S 81,000
Al 189,000
402 2I2F X201 & 540,000 24,540 515,460
= 270,000
= 81,000
Al 189,000
02 QI XHE AL E R (01X THE) 540,000 24,540 515,460
ON2ssSHAR=(MN2ME D)X 540,000
= 270,000
= 81,000
Al 189,000
sttt SSHEH| Xd 1,056,000 1,262,000 A206,000
= 228,000
= 45,600
Al 782,400
307 elztol & 1,056,000 1,262,000 206,000
= 228,000
< 45,600
Al 782,400
02 LB HAHE L 1,056,000 1,262,000 A206,000
Ostte 3sdgHI(01d) 456,000
= 228,000
< 45,600
Al 182,400
Ostte SsHEHI(RHA) 600,000
SHE0IERIE 79,800 36,400 43,400
= 28,500
Al 51,300
307 @20l & 79,800 36,400 43,400
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2A:

A RoAEEH
el HARMAD| B (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OL)| ADIE"® &0 XA 490,000
OO0IL =5 HESALY 144,000
OsHEA NSS2I(XAHM 8) 90,000
OHEEMAZ M (XIXH &) 32,000
Ootutet = BHg| FRHI(KIAN &) 64,800
Osz28)| N (XAM &) 22,800
OZI| dgI| XJA(KIAM &) 19,600
OFE ALEE AM&XIA 240,000
AU &2 MAAA S 562,771 1,160,114 AB37,343
= 110,996
Al 451,775
202 0idl 1,000 1,000
01 =WO4bI 1,000 1,000
ORNER 42 1,000
402 QI2E X201 ™ 561,771 1,157,114 A595,343
T 110,9%
Al 450,775
02 QIZEXH2 AL 22 (01 & &) 561,771 1,157,114 A535,343
OJWESotA Szt 250,000
& 50,000
Al 200,000
OZ)| LERF(AR) 32,791
& 5,200
Al 27,591
OAl4otA D) 80,000
T 16,000
Al 64,000
OAlZ&0 =34 58,980
= 11,79
Al 47,184
OAER30 HA=ZZoH 220 75,000
& 15,000
Al 60,000
OAldoteA AEASEE 65,000
T 13,000
Al 52,000
SEE0F HUXEZAIE XA 241,686 315,849 AT74,163
| 109,857
T 39,549
Al 92,280
402 QI+ R=01H 241,686 315,849 AT74,163
| 109,857
& 39,549




2A:
X XH -
o e

=aak

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

Al 92,280

02 QIZEXH2 AL 22 (01 & &) 241,686 315,849 AT4,163
OuHXIEZ AMEXIA 241,686
| 109,857
& 39,549
Al 92,280

DFHIOHE THHHAIE 42,500 100,626 A58,126
| 17,000
& 7,650
Al 17,850

402 IZERH=0IN 42,500 100,626 A58,126
J| 17,000
= 7,650
Al 17,850

02 QIR AL B X (01 & THEA) 42,500 100,626 A58,126
OLFHII THHHAIE 42,500
| 17,000
= 7,650
Al 17,850

AOIEE AMAEES ALY 27,500 16,920 10,580
| 12,500
= 4,500
Al 10,500

402 BI2HR=0l M 27,500 16,920 10,580
| 12,500
= 4,500
Al 10,500

02 QIZIXH2 AL 22 (01 & &) 27,500 16,920 10,580
OALIEE NEEZ 27,500
| 12,500
& 4,500
Al 10,500

SEEXZ2 MAAIZE U 20,000 17,500 2,500
| 8,000
& 3,600
Al 8,400

402 SIZERH=01H 20,000 17,500 2,500
| 8,000
& 3,600
Al 8,400

02 QIZEXHEAIZ 2 X (01 TH &) 20,000 17,500 2,500
OSESXS(HA)ALSUS 20,000
J| 8,000




SA R DY
a0l
el HARMAD| B (SH9 H2)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
< 3,600
Al 8,400
AE20SCHat 165,000 212,500 247,500
Il 75,000
< 27,000
Al 63,000
402 QI2F X201 & 165,000 212,500 A47,500
Il 75,000
== 27,000
Al 63,000
02 QI EASEX(0IETHR) 165,000 212,500 A47,500
OAIZ20 STHat 165,000
Jl 75,000
=S 27,000
Al 63,000
sttg el (6P) X 15,000 6,800 8,200
< 4,500
Al 10,500
301 EtE NS 15,000 6.800 8,200
= 4,500
Al 10,500
14 DBt 23 15,000 6,800 8,200
OGRS =2 15,000
= 4,500
Al 10,500
P g EA X3 60,000 48,000 12,000
= 30,000
= 9,000
Al 21,000
301 EtE N = 60,000 48,000 12,000
= 30,000
= 9,000
Al 21,000
14 DBt 23 60,000 48,000 12,000
OGPt &4 60,000
= 30,000
< 9,000
Al 21,000
LororLter 1= = 22,250 21,000 1,250
= 4,000
Al 18,250
307 gl2to| & 22,250 21,000 1,250
=S 4,000




2A:

. AdaMEEY
el HARMAD| B (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 18,250
04 QIHHAMAIH 2 £ 22,250 21,000 1,250
ORordiLte s =M 20,000
s 4,000
Al 16,000
ORororLgtnE SRI(XHA) 2,250
HAINEE0S MSHA 8,000 8,000
307 elzto| & 8,000 8,000
04 CIZHHAMAMH 2 & 8,000 8,000
OZAII=EI0IS HIS A 8,000
SYE0F AMHUEXIAIE NEH 67,088 0 67,088
Il 38,336
= 8,626
Al 20,126
402 2I2F X201 & 67,088 0 67,088
) 38,336
< 8,626
Al 20,126
02 QI X2 AL EE (01X THE) 67,088 0 67,088
O&ITHA O XIAIE X1 67,088
Jl 38,336
== 8,626
Al 20,126
GAP 43t RIFAY 15,000 115,000 100,000
301 EtE NS 15,000 15,000 0
14 IIEt2 83 15,000 15,000 0
OGP 5+ & HE-ZAH A& 15,000
=342 6,859,474 9,548,307 A\2,688,833
= 1,117,000
Il 50,000
== 2,248,409
Al 3,444,065
DesItis 2 aElsItE 266,515 267,015 A500
202 04| 840 840 0
01 =LHOLI 840 840 0
Olt=3ts| g2FA 840
301 EtE NS 4,500 5,000 A500
11 dALEEIXIZE S 4,500 5,000 A500
Osgol Sdus & ddXAg
50,0003 x45 2 +23] 4,500
402 2I2FX=01& 261,175 261,175
01 QI XHE AL E R (KM TH) 261,175 261,175




SA BT
B G
Celr W==3t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Osial 2z2 261,175
SH2H 28 4,132,560 8,132,560 14,000,000
= 2,110,376
A 2,022,184
201 et 2,560 2,560
01 ArR2eltl 2,560 2,560
O==SHaLe 222 N 2,560
307 gIztol ™ 4,130,000 8,130,000 4,000,000
= 2,110,376
Al 2,019,624
EEE 4,130,000 8,130,000 14,000,000
OS2 282 4,130,000
= 2,110,376
Al 2,019,624
FESYPEEE 369,984 177,065 192,919
402 DIRHTHE0IH 369,984 177,065 192,919
01 QIR 2AIS 2R (RAMITHE) 369,984 177,065 192,919
OUASEES TH 3,99
OALIELE =4 122,192
O+5It HEHED 200,000
OSTB0IUS(N M) 10,800
DM A BT 5 A2 125,000 80,000 45,000
Il 50,000
T 22,500
Al 52,500
402 QIZ2HRHE01H 125,000 80,000 45,000
Pl 50,000
= 22,500
Al 52,500
RN EEEIGEIED 125,000 80,000 45,000
OFTADIZ i+ DEIAILEOE 125,000
| 50,000
= 22,500
Al 52,500
Dt==3tEls 0 MADBEE A 293,915 439,017 A 145,102
T 50,283
Al 243,632
401 AlIEHIZL R OHYI 20,000 20,000
01 AlIZHI 20,000 20,000
OTDAHSBMTT AL SXB2 20,000
402 QIZ2ERHE01 & 273,915 419,017 A145,102
= 50,283




SA R DY
Hu: A0l A
gy ke Bl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 223,632
01 QI XHZ AL E R (K THE) 22,500 125,000 A102,500
Ot== KT 2 M (XM H) 22,500
02 QI EASEZ(0IETHR) 251,415 294,017 A42,602
OAR EIIMEHI 27,500
< 5,500
Al 22,000
Ol =88 2= 22,000
= 4,400
Al 17,600
OUAS OrE0 AU UAAIE SHTHS 25,025
== 5,005
Al 20,020
O3tsll datAle B3t 105,000
= 21,000
Al 84,000
OB S (S0l M ) CH 6,890
= 1,378
Al 5,512
Olt== Kt ol 22X 65,000
< 13,000
Al 52,000
sHSolE LMl XA 654,000 421,400 232,600
= 327,000
Al 327,000
206 M=l 654,000 421,400 232,600
= 327,000
Al 327,000
01 M=4l 654,000 421,400 232,600
Ol FoliE Xl 654,000
= 327,000
Al 327,000
LSSALY =X 30,000 31,250 A1,250
= 6,000
Al 24,000
307 elztol & 30,000 31,250 A1,250
= 6,000
Al 24,000
04 CIZIHAMAME 2 & 30,000 31,250 1,250
Ogs3AtL =X 30,000
= 6,000
Al 24,000
DA BMACET] JIBE A (0]2HKI+) 987,500 0 987,500




SA R DY
Hu: A0l A
gy ke Bl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 790,000
=S 59,250
Al 138,250
403 AXIEHHSAH=201H 987,500 0 987,500
= 790,000
= 59,250
Al 138,250
02 SISO et =2 A P E A I 987,500 0 987,500
O M BHAEX] 1A 987,500
= 790,000
= 59,250
Al 138,250
A0EY Salde| = 13,252,400 3,202,400 10,050,000
= 8,600,000
= 600,000
Al 4,062,400
ADIEE Solde| AAAY F& 52,400 2,400 50,000
202 04l 1,400 1,400 0
01 =LHNHI 1,400 1,400 0
OANIEY galde]| =4 1,400
203 =8| 1,000 1,000
03 A= PR FZ| 1,000 1,000
OANEE salde] =4 1,000
207 ARl 50,000 50,000
01 H1ESHI 50,000 50,000
OADIESE MAHUEZ ZEMY ESH 50,000
HUsE2S kel gAY 3,200,000 3,200,000 0
= 1,600,000
Al 1,600,000
403 AXIEMSAH=0ld 3,200,000 3,200,000 0
= 1,600,000
Al 1,600,000
02 S7I2S0 e H=E 2 E AL 3,200,000 3,200,000 0
OEHsEESNCIZEAY 3,200,000
= 1,600,000
Al 1,600,000
KNESst JUHE ANEE ZEAS 10,000,000 0 10,000,000
= 7,000,000
== 600,000
Al 2,400,000
403 AXIEHHSAH=201H 10,000,000 0 10,000,000
= 7,000,000




SN BXAIT
HE: A AATH
TPl ADIER Salwe| EX

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 600,000
Al 2,400,000
02 SIS0t 2 S A A 10,000,000 0 10,000,000
OXEE3s SUHE ANEE 24 10,000,000
= 7,000,000
< 600,000
Al 2,400,000
WX 3,798,669 3,771,898 26,771
=S 1,242,276
Al 2,556,393
ME=INLZ] 3,798,669 3,771,898 26,771
== 1,242,276
Al 2,556,393
stugadl X 3,591,679 3,493,918 97,761
< 1,227,8%
Al 2,363,823
308 XXM SOIA 3,591,679 3,493,918 97,761
= 1,227,856
Al 2,363,823
08 W=EJ|A0He 2 & 3,591,679 3,493,918 97,761
OstugAdl XI& 2,982,089
= 1,192,835
Al 1,789,254
Ozlgd stts stuga N 81,708
< 35,021
Al 46,687
O==+ Az &t X 527,882
Sclotol S AIS X 131,090 186,240 N25,150
= 14,420
Al 116,670
308 AtAIEHMSOIE 131,090 186,240 225,180
=S 14,420
Al 116,670
08 WIJI20tetEE 131,090 156,240 N25,150
O<cI0ot0l A2 AIE X2 131,090
& 14,420
Al 116,670
SXIE 2tAHl K& 75,900 86,800 10,900
308 AHXIEMSOIH 75,900 86,800 10,900
08 W=J| 2022 75,900 86,800 10,900
OFXI& 2tadl X3
10,0002 +750E »10& 75,900
HY2AHHI(6RHAIE ) 81,028 83,328 2,300




SN BXAIT
M HESAA|(6RAD
ool |22

RA - I BRA(E) - HRA - BES of vy A

Jl=3hl 81,028 83,328

Jl=&Hl 81,028 83,328

201 er23| 26,380 26,380

01 At22te|bl 22,380 22,380
ORAMEg Jl=gtl 22,380

02 S3=gHl 4,000 4,000
O&Exte 2t 4,000,000 *1CH 4,000

202 04| 51,048 51,048

01 =LHOLI 51,048 51,048
O=3Udbl 51,048

203 gR=&| 3,600 3,600

04 FAZHLRFEI 3,600 3,600
ORAed goxz 3,600




